€Y)
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s+ds(s>t)
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n@> 0)

C.ds
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NPV (t)
NPV(t) =€ rtgcoem‘/(r -m)- Kg

NPV (t) t

rK = Cpe™ ()

t t
@

Coe™/(r - m=rK/(r - m

r=4% m=2%



rk

@

@)

o

C =rK (€Y)

@)

@

dC = n@dt +sCdwW

m s W C
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dt f(C+dc)

a<0 b>0
a=0 B=f/c’)

57 2002 11 )

f(C)= Eo[e' "|Co :c]

f(c)
f(c)= Eole‘ "t (C +dC)|co = c]
= f(C)+ (f c)nc +1 f4C)s 22 - rf (c))dt
1s?c?tdc)+nci€c)- rf(C)=0
f(C)= AC* + BC?
1s2x(x- 1)+m-r =0 ®



nevie')=let /- m- i (e/e )

C*
C :LK
r-m b-1
r=4% m=0% s =20% b
b (@

b/(b-1)= (r+s 2b/2)/(r -m
©)
C' = +s2b/2k

s?® 0 @ @

@

Q XD(Q)

dX = nXdt +sXdw

a0(Q) p(a.Q) q pq(aQ)

®

*

*)
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axD(Q)
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p(a.Q)=aD(Q)

Pe(a.Q)=D(Q)+aDg(Q)
Do(Q D) q=Q D(Q)=1
X Q
q X V(9,Q;X)

%s 2X Ay +MXVy - 1V +p(g,Q)X =0

X v
V(9,Q:X) =B(q, QX" +p (a.Q)X/(r - m )
b ©) X X
X" Q X(Q
dg Kdq
K (0.2x Q)1
V(9.2 X(Q))

v(0.0:x " (Q)/1a=840. QX Q) +pa(aQ)x @)/l - m)=x

B,aQ B(aQ g X'(Q)

K ©6)



B,(0.Q)=k(x' @) "/&- b) %

b (@ ®)
Py (0.Q)X Q)= [r +s2b/2K ©)
@ @
@
V(a,Q:X) V(a,Q;x) V(a,Q;x)
q v(q,Q X) )
v(0,Q; X) = By (a.Q; X)X ® +pq(a. Q) X/(r - m)
®
o)=Ly x ¢
e r-m b-lgx*(Q)g ®
_Pa0Q) ., @.@Q .y O x €
N R 1T R e o
po(aQX/(r- m
bala@Xx @) - m- kx/x"@F
pe(@Q)=1 x=c X(Q=C €)
®) X X(Q v(a.Q X)
v[a.Q X'(Q)

™Ma, QX" (Q)/7x =0

®) ®  V(qQX)
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v(a.Q X)
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